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Read the unseen passage below carefully for
comprehension and answer the questions that
follow : (26 - 30)

Next to water, tea is the most commonly
consumed beverage in the world. This is a good
news because tea offers important health benefits.
Its benefits were first discovered by the Chinese
Emperor Shen Nung who'declared that it gave one,
vigour of body, contentment of mind and

| determination of purpose Today, there is ample

proof that tea in its many: forms possesses a number
of health benefits from supportmg the immune
system to reducing the risk of cancer, to helping
prevent tooth decay.

What makes tea such a healthy drink ? The
star compounds are called catechins. Those are

| antioxidants, that help prevent cell damage by

harmful molecules called free radicals.

‘Tea can be black, green and red and is derived
from a warm-weather evergreen tree known as

——

Camelia Sinensis. The more processing, tea leaves
undergo, the darker they“become Green tea is the
least processed tea. It i 1s srmply steamed quickly
and offers the maxnnurfl healmg powers because
itisn’t fermented. It als : ‘Ii:;s prevent tooth decay
and aids weight loss. = *

The world must now explore healthier options
when it comes to beverage consumption as the food
and drinks we put into our bodies are our fuel.
Therefore, we cannot undermine the crucial role
of healthy drinks and the spotlight remains on tea.

@)

(2) insufficient.
(3) evident
(4) strong
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927. Read the passage carefully and identify the
word which means the same as ‘harm’.

(1)
(2)
®)
(4)

eY

7

proof

fermented -,
loss

damage

28. Read the passagé—qarefully and identify the

incorrect statement from the options given
below.

Chinese Emperor Shen Nung declared that :
(1)
)
(3)
(4)

Tea added vigour to body.
Tea brought contentment of mind.
Tea gave dete;mination of purpose. .

_Green tea a1ds weight loss.

Read the passage‘carefully and identify the
incorrect statement-which does not mention
the benefits of gréen tea as given in the
passage. ¥

(1)
(2)
3)
(4)

29,

Itis ferme;it;a.

It prevents tooth decay.

It aids in weight loss.

It is the least processed tea.

30. Read the passage carefully and select the

correct answer. from the options given
below : B

Which antioxiiafﬁfs make tea a healthy |

 drink ?
)
@)
()

¢ "7‘“
The preseﬁce;of leaves of evergreen tea.

The preser_gg of free radicals in it.

The preseni:e' of star compounds called
catechins. :

31.

32%

33.

‘Mixture of water in it.

(4)

~ SHIVA/H
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Which one of the given options is the correct
meaning of the following word ?

IMPLORE

@s To uncover something
2 To discover something
B)s To eprQfe something
4) To bég.fér something

From the following sentences choose the.
option with the correct usage of Adjectives.

(1)

The higher you go, the cooler it
becomes.

(2)
®)
(4)

As higher you go, the cooler it becomes.

As high you go, as cool it becomes.

The high you go, the cooler it becomes.

Choose the sentence which has correct usage
of Pronoun.

(1) One c;f'at>he5e three boys won the race.
(2) Any af,fihese three boys won the race.
(3) Ome of this three boys won the race.
(4) Many of these three boys won the race.

Choose the correct option for changing the
following sentence from Direct to Indirect
Speech.

The lady said to the maid, “Don’t go outside
the house without my permission.”

(1) The lady requested the maid to not go
outside the house without her 3
permission.
The lady ordered the maid not t© &9
outside - the house without her =
permission.

The 1§dy ordered the
outside: the houst
permission.

(2)

maid to not go
without her

)

The lady told the maid' to:;g:ig:i(())rlits g
the house without ¥

(4)

PTO.
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35. Choose the correct sentence from the | 39. Choose the correct option for changing the

sentences given below. following sentence from Active to Passive
Voice.

i d left before.h hed th .

- Ztlzlii,cor? o el Or? ."’ireac 3 ) The coach has traiiie‘dﬂ the team for the final
: match. s

@) Thetgllttbeforehe reach thestalen. (1) Theteam havé been trained by the coach

()  The train had left before he reaches the for the final match

station, (LI (2) The team is b:eihg trained by the coach
(4) The train left before he.reached the for the final match

station. . e

Wt 2 (3) The team hasbeen trained by the coach
for the final match.

Ll 4) The team had been trained for the final
36. Fill in the blank with the correct preposition. ® match by the coach. :

Water is supplied .. af-2 pipes to

residential areas. ~ .

' 40. Fill in the blanks in the given sentence with
(1) by the correct answer from the options provided
(2) through k ™ o
. : S Americans were
(3) in first to land on moon.
(4) from

(1) The, the, a

37.  Choose the correct sequenc;é— n which the (3) The, a, the
following words appear in qf,'d§Cﬁonaw. (4)  An, the a
(1) Rear, Real, Rude, Roll '
(2)  Rude, Roll, Rear, Real i | 4L ihgolse the sentence with correct usage of
(3) Roll, Rude, Real, Reag (1r) cle from the Options given below
Unit, i .
(4) Real, Rear, Roll, Rude : o : . :1 efd Kingdom is in Europe.
e :
u difficaly, oo Of the paper was
38: Il th e blank with the correct verb in fhe (). Heis St“d}’m:%l; an University.
following sentence. »“ ‘ (4) Tl}e Police loaged a FIR against the
The news of our team’s victory Crimina], Sd
frue. i
(1) have ' 42 Choose the spellin ch is correct
, (1) Rodant .
2 et (2)  Splendour
(3) has () Spluter
(4) are ‘ (4) Vagebond |
6
SHIVA/H
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43. ithSe the sentence with incorrect usage of
rticle from the options given below.
(1)  The Himalayas are young mountains,
(2) A student should be disciplined.
(3) Thisisa golden opportunity, "
(4) 1 reaq Times of Indi i E
at
Vocabulary, ’ lmptf’ve w
44. Whij i enc
Corrl:j: ;)ne of the following sentences is
(1) Heis very weak to walk,
(2)

He is much weak that he cannot walk.

)
(4)

He is very much weak to walk.
He is so weak that he cannot walk.

45. Choose the correct meaning of the fb_}lowing

word :
GRAFFITI
(1)

Drawings or writings on a wall in a
public place. ¥ 5

(2) Thesmallhard seeds of food plants such
as wheat, rice etc.

(3) A diagram consisting of a line or lines,
showing how two or more numbers are
related to each other.

4) A piecé cut from a living plant and fixed

in a cut made in another plant.

]

46. Choose the Noun from the following words.

(1) Great
(2) Wait
(3) Freight
(4) Alienate
SHIVA/H

47.

48.

49.

50.

GET IT ON
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Choose the correct sequence jy 1. ¢ the
following words appear Ina diCtionzuy.

(1) Peace, Peal, Peel, I?endam
(2) Pendant, Peace, Peal, Peg|
(3) Peace, Peel, Peal, Pendant
(4) Peel, Peace, Pendaht, Peal

Fill in the blanks in the given sentence with

the correct answer from the options provided
below.

I told him that I
the job because the pay

not

less.

(1) could, do, was
(2) can, doing, is

(3) am,do,is

(4) will, did, is

Choose the incorrect sentence from the
sentences given below.

(1) He was sleeping while his friend was
studying.

(2) Had I practised hard, 1 would have
won.

(3) Why are you not acting upon my
advice ? :

(4)

How long were you preparing for this
exam ? .

- Choose the spelling which is incorrect.

(1) Comitment
(2) Pasteurize

(3) Cereal

(4) Orthopaedics
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52.
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MRE 6 9 e g3 3 <A1 3 Sl e
TAE R Wi e A T

(1) fomr 24,2023
() W 27, 2023
(3)  ¥mT 11, 2023
(4) ¥ 23, 2623-

The moon rover of India’s Chandrayaan-3
made a soft landing towards the South pole
of lunar surface on :

(1) September 24, 2023
(2)  July 27, 2023

(3)  August 11, 2023
(4)  August 23; 2023

(1)
2
()
(4) A Y=

Gandhi Sagar Wildlife Sanctuary is located
in which state of India ?

(1) Uttar Pradesh
(2) Maharashtra
(3)
(4)

Karnataka® 'f
Madhya Pradesh

W_mesmwﬁ TE A I
SR ? ’
@ =A@

Which city of Uttar Pradesh is known as the
‘City of Knives’ ?

(1) Rampur
(3) Bareli

(2)
4

Saharanpur

Mirzapur

54.

55.

56.

@

GET IT ON
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fafmm s amdET_ Fwg
g

(1) e (2) BRI

(3) wHER (4) =

Uttarakhand, ﬁUttar Pradesh, Bihar, West
Bengal and Sikkim have common frontiers

'with

(1) Bhutan (2) Nepal

(3) Myanmar (4) China

i w1 e o= TR 9§ i fawn d gEan €2
O 2w L (@

3) 9= (4) ew(@

Which Planet moves in opposite direction,
unlike the other planets ?

1) )
(3) (4)

Uranus Mars

Earth Jupiter

& 1S YTk dreeRor R B s A
STHET 9H=: e e ¥ *
®Y H S S R

1) umaﬂam'

(2) gt

3)

The area or natural environment in which

an organism or- p0pulat10n normally lives is
known as : .

(1) Habitat
(2) Cottage

(3)  Forest

(4)  Atmosphere l
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1) dam
(2) sty wy
®) dmeFg v
@) Toem
Kalamkari Palntmg is related to
(1)  Punjab i3
(2)  Andhra Pradesh
(3) Tamil Nadu ™
(4) Rajasthan

58. %ﬂg%%u@aﬁ e e %mﬁm
1 = (2) W
G) Hw (4) wewfq
Which Planet in Solar System is known as
the ‘Red Planet’ 2 '
(1) Saturn -~ (2) Mars
(3) Mercury —~ - (4 Jupiter

59. YRd I U™ w} _‘
M =W @ A
(3) waAw (4) Ten
National bird of India is :
(1) Peacock (2) Parrot
(3) Pigeon (4) Sparrow

60. A % T T H T i€
1 T ot |
(2) ifehrR S
?3) NEEGIP %Th-{
(4) TR Tﬂ%ﬁ - ‘nf
The National song of India was composed
by :
(1) Jawahar Lal ‘Nehru
@) BanklmChandra Chatterji
(3) Rabindranath Tagore
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frefated ¥ 9 ffe S H Wi o
<fean’ & T4 H S S @ 2

1) "R

@) 'Hffﬁ'—ﬁﬂﬂg

(3) 3L s

(4) TERER e o

. Who among the following personalities is

known as-‘Nightingale of India’ ?
(1) Mother Teresa

(2) Sarojini Naidu

(3) Amrita Pritam -

(4) Maharani Laxmi bai

T feadty st frehe # <Seu waw o m
aﬁwﬁwn?ﬁaﬁﬁamaﬁ-—r?}?

1) vﬁ??@m
Eﬁ’@wam
asfqaaa

(4) g—-ﬁamaw

Who was the fust Indian cricketer to score a

double century in one day International
cricket ?

(1) Sachin Tendulkar
(2) Virendra Sehwag
(3) Kapil Dev

(4) Sunil Gavaskar

e e et e e e

Rmaﬁmﬁﬁammaﬂﬁmm?
(1) o (@) A
(3) - (4) g

In first-ever ’Khelo India Para Gag‘est hezﬂ
in New Delhi, which state was at the top
medals Tally ?

(1)
(3)

yttar Pradesh

2 =
Tamil Nadu

(4)

Punjab
Haryana

 PTO.
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64. WHE R ‘=R FAR’ ¥ fead &1 | 68, A fiiy form S § wweifud €2
(1) R 2) YRR (1) = ™
@ W W R () defizT
The famous monument Char Minar’ is ©) Egdll 4 )
located at : i (4) -qﬂgwgiaﬁi _
(1) Hyderabad (2) Bhubﬂaneshwar With which sport P.V. Sindhu is associated ?
(3) Patna (4) Mysuru | (1) Table Tennis
4 (2) Badminton
65. Rd & T FaA 1L (3) Wrestling

(4) Women'’s Hockey

1) wEqE 2) wHFa

(3) =Hel S (4) e 69. o], fFg 7t % d¢ W e 8?2
National flower of India is : (1) T (2) '\Tl'cﬁ"
(1) Sunflower (2) Lotus 3) o (4) T
(3) Jasmine (4) Rose On which river bank is Agra situated ?
oy | ) (1) Ganga (2) Taapi
.i66. ‘3 guST" St T foREA Bt 2 (3) Looni ' (4) Yamuna
3 f § v»
' o L o 70. ‘S T, 9 erell’ ufag A R ad gy
3 (2) HieTeE FTEg MY e
| C e
(3) eltep o . In which year the famous ‘Beti Bachao, Beti
(4) T UH Hig ¥ Padhao’ scheme was launched ?
1) 2019 @) 2017

Who founded ‘Arya Samaj’ ?
(1) Dayanand Saraswati

(2) Mohandas Karamchand Gandhi 71.  ¥RA 99 % YU Y9 F9E 9 EESs 1| ﬁ'l:ﬂ%f@a
(3) Prateek Arya o QR4 o ?

(4) Raja Ram Mohan Roy (1) S 2021-22

2) o 2022-23

(3) = 2018-19

(3) 2015 (4) 2021

67. ﬁwﬁf@ﬁﬁﬁmém%qﬂwﬁwsm—zozz

St ? £,
. (4) S 2020-21
i( e 2) of E'lﬂl
> (1) @ ey Which of the followmg Budgets was India’s
(@) WE 4) m first paperless Budget presentation ?
Who among the following count'ry Won FIFA (1) Budget_j20251 -22
world cup-2022 ? (2) Budget 2022:23
(1) Morocco (2) Argennna "(3) Budget 2018-19
(3) France (4) Croatia (4) Budget 2020'21
SHIVA /H 10
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72. =9 % TSIYTY T TH T |
(1) ?ﬁﬁm () G 51
(3) ﬁm"ﬁ (4) ' m".rr

Name the Capital of China.
(1) ‘Beijing

3] To‘k}o
(3) Chicago () Shi.lbng
S A feeres o o 3 s e
1) 15 v 2 21<@ |
(3) 25 gem 4) 5 faqmr

Qn which date, the
1s celebrated ?

(1) 15t February
(3) 25t July

International Yoga day

(2)  21% June
4) Sf}‘*éeptember

1) FER (@) e
(3) =R (4) wETS

In which city of Uttar Pradesh, will the
Government set up the country’s first
language museum of Hindi literature ?

(1) Kanpur ' (2) Ayodhya
(3) Varanasi (4) Lucknow
5. FIRSREAR G R
@ dewfm (9 =
@ ™ @ fw
The currency United ngdon_ns :
(1) Pound Sterling (2) Taka
(3) Euro ~ (4) Dinar
HIVA/H
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76. 0'5—7- CARIG -qg % .
The value of (57 is: g
52 o <
) S
77. U S TR Y e 22 U ¥ | Ry fyereiae
T e o1 I § EE 99 5 9 g
&Il TR o1 TE19 ST i o9 2 : 5 &
STl 81 9EH % q B B (om H) w1 R2?
_2
(n=Z J |
A solid hemispheféij{as radius 22 cm. It is
melted to form a cylinder such that the ratio
of cur.ved surface area to total surface area
of cylinderis 2: 5, {E/\:Ihat is the radius (in cm)
of its base ? (Take'rr= %)
W  21. @) 23
3) 25 @) 22
78. U Afek 4 S T WURY <1 R 12% Iiq 99
H XY 7 T | 9 96l F 9 3§ AN F
AR R F&F B T 61,200/~ A FA o411 FH
B SUR it 8 Tf T :
- = f 8
A man took a loan from a bank agthsarrite o
12% p.a. simple interest. AT 3 el
had to pay ¥ 61,200 as intere
amount borrowed by him-
(1) T270000 (2
(3) ¥ 1,20,000 (4)
11

G Scanned with OKEN Scanner


https://applink.adda247.com/d/XhqWf9lSap

Adda

79.

80.

81.

HIVA /1

- of interest is

L

(1) 10% 2) 15%
(3) 20% (4) 5%
i)
'qﬁ{Z(x _3)? =i 8 el x+1’a€3‘rm%
If 2(x—3)? ‘%8 ‘then “x+1' can be :
16 @ 17
(8). 118 4) 15

eY

7

BAL T i il # e & ford A T T
3% T 1 s dem 6 @ fausa &, @ A A Y
WWH@W%)

8A2 is a three d1g1t number with A as a
missing digit.: [ the number is divisible by 6,
the value of A from the given options is:

Tk R e ¥ oRH <9 T 17 % TR
%Qﬂm%w%leﬁaﬂﬁﬁﬁ#@nw%?

Ten times the reciprocal of a rational number
equals 6 times the reciprocal of 17. Find the
rational number., .

83 85
1 5 @ =
8
® > @ =

HET it T NI FERT S R 8N T, I8
1oaﬁﬁ§gﬁ€rm€fﬁmaﬁa{w@1ﬁ?

A sum of money is lent at simple interest, the
money gets double in 10 years then the rate

84.

85.

86.

& 12

83.
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qu‘-;————016134€?[ &1
6.198 0.006198 '

qTT

1525,
If _639§81'_'=":,30.16134' then the value of

0.006198
(1) 1613.4 ) 16.134
(3) 1.1634 (4) 161.34

i Ry TEnadi 1 LCM 120 © | fF=fafaa
g as‘ﬂ"-r 391 HCF &1 &l ekl ?

The LCM of three different number is 120.
Which of\ the following cannot be their
HCF ? £ :.

M
(3)

24 a3

()

. ‘@) 12

T shivren forw it o WS Tl FRY we 9
oo S &

The sum of three consecutive odd numbers is
always divisible by :

1 3

@) 7

@ 5
4 2

zrﬁ:(xz+5+3x) (x2+5-37)=A2-B2 %, @l
A-5=23 |

If (x2+ 5+ 3x) (x2 +5_3x)=A?—B?, then
A-5=7. %

(1) 22-3 2) **=5

(3) a2 (g ¥+l
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88.

89,

24

EINERCHIRIE

wR?

\'VI A i \
hat g u\Q value ol the Ux'”‘"““'”“

]
[

1

1) - (

(1) 3 %)
4

@ = |

8 4

6 13 o o1
3 a X b X N
\/ c9 X alz AR

be? bed

2 . S

M) @
4 " 14 .

C J> C

4l .

3) 2 (4) 2

M SARIT m, n T qUileh §, 9 WaR o
6M o om+n 3M 4 2N =332 %’ a1 Sew (6™-+1)
(2" +1) T T FMR?

Suppose m, n are positive integers such_lhnl
gM - pm-+n 3M 420 =332 “The value of the
expression (6" +1) (2"-+1) is

) Ay

(3)

<2

334
(4) - 385

- SHIVA/H
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93%

13

GET IT ON
Google Play

R G T AT T L
& Frenbstet sy g s e S g g e
wyreet B8, A afas wl g oy, s |

Cubeyoot of w number when diyigog by the
amallent prime number gIven wguage of the

sl lent prime number, fAnd e g dipit of
1
the number,

(1 2 )
) @)

UFCA S e w280 siftE § ol e
LT A 300 A B (A D) e Feied |

I A s 28° more than its complementary angle
and Bis 30° less than its supplementary angle,
(then find the value of (A A B).

(1) (2)

134° 79°

146° 130°

1008 =Y forr warl) B\ wiwm A o e vy
g uzh ol A wm w2

By what least number should we multiply
1008 to make it a perfect square ?

(1) 6 2) 7
3) 8 @) 5
& a X+ 13 5
A xh2y = 63 ¥eie Y - o &2ty
y

ST BN ?

If x+2y = 63and LACIN .]«3-, find the value
R AN T

of 2x-y=?
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94. Wqﬁ#maﬁ " ;[ SOquz%l
a9 g IS ﬁm@gﬁ wmaﬁmi
ﬁmqﬁﬁ [5]3 1 (Cm 1 Cirde iS 45 T cr'n
The length of an arc O & 0~ ribed by it
and the area of the;se.ctoll; Cthe radius (in cm)
is 30 7 cm?. What will be
of the circle ? oy
10 ks
e 3
@ 40 = 3
3 95. 71X 72X73XTA wonrrren %79, 3 U § ghTE
HE FME? L
The digit in unit’s place of the product
71X 72 X 73 S it X79.
M 1. & 2 2
@ 3 B @0
96. A% a 3R b faww:siF § A Frafafen § A HA
If a and b are odd-numbers then which of
the following is n ?
(1) wab+2:0i0 g (2) a+b
10 9t x4 I3 M F oHR ¥ s
SR & <T@ S GFA R | o il‘f”t
Mg s F v ) 5\/51511?7
@) 73 @ sfEag
Find maximum length of any obiect
be kept insid;?_‘i;:a; r ECtaISIIgubl]ae:t ;hat;;an
dimensions 10 cm X4 emx3 ¢y, 0"<.‘f'of
(1) | 5 cm : 7(2) 5\/§cm'
(@) 7em @ 35m &
SHIVA /H
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APQRH, £P: £Q: £R=)3.,,

4%
RS,PQ%EWHW@TE'TW%’WZP?;}?T
InAPQR, £P: £Q: £R=2.5. , .~ _
drawn parallel to PQ, then @Ré A line RS

=?
(1) 45° ) 400

(3) ?{5.‘,’_ (4) 300
soﬁ'ﬁ#ﬁﬂ*mﬁﬁﬂmmmﬁ
[RSEZRE] ferput 32 9t #1 7)

(1) 874 2 (2) 384 3

(3) 400 G2 (4) 364 I

Find the area of a rhombus of perimeter
80 cm and one of its diagonals is 32 cm.

(1) 374 cm? (2) 384 cm?

(3) 400 cm? (4) 364 cm?
amaﬁamgmm 1260 § 3R 371 HCF 6
® 15 el 1 LCM % -

The product of two numbers is 1260 and their
HCFJS_6 The L.C.M. of the numbers is :

1) 210 @ 230
(3) 240 (4 200

-00o0-
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